



AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

Topic: 3. 5 – EVOLUTES

Involutes and Evolutes.

Involutes and Evolutes:

The tocus of the centre of curvature of the given curve is called the evolute of the curve. The given curve is called the involute of the evolute.

Working rule to find Evolute:

1. Write the parametric equation of the given curve.

2. Find the centre of curvature = (x, y),

3. Eliminate 0 the parameter 0 (08) E

4. taking the Locus of (\$2, \$) the required evolute is g(x,y) = c.

10/01/02/01		
CEUTIVE	carlesian equation	parametic
pavabola	1. 2 = 4ax	Parametric equation. 1. X = at2; y= 2at
Ellipse	2. x= 4ay 22 1 y2 = 1	2. x=2at; y=0+2. x=20050,
hyperbola	22 - 42 =1	Y=bsino : x=a seco; y=b+ano.
Rectangulas hypenbola	ny=c2	x=ct, y=c/t.
Astroid	x3+y3=a3	x=acoso, y=asinfo,





AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

1. Find the equation of the evolute of the
parabola
$$y^2 = \mu a x$$
.

solution The parametric equation of parabola
 $y^2 = \mu a x$ are $x = ak^2$, $y = aat$.
We have to find the centre of acoustical
 $x = at^2$, $y = aat$.
 $\frac{da}{dk} = aat$; $\frac{dy}{dk} = aa$.
 $y_1 = \frac{dy}{dx} = \frac{dy}{dk}$. $\frac{dt}{dx} = aa$.
 $y_2 = \frac{d^2y}{dx^2} = \frac{d}{dk} \left(\frac{dy}{dx}\right) \frac{dt}{dx} = \frac{d}{dk} \left(\frac{1}{k}\right) \frac{dt}{dx}$.
 $\frac{y_2 = \frac{d^2y}{dx^2} = \frac{d}{dk} \left(\frac{dy}{dx}\right) \frac{dt}{dx} = \frac{d}{dk} \left(\frac{1}{k}\right) \frac{dt}{dx}$.
 $\frac{x = x - y_1}{\frac{y_2}{k}} \left(1 + \frac{y_1^2}{1}\right)$.
 $= at^2 + aat^3 \left(\frac{1}{k}\right) \left(\frac{k+1}{t^2}\right)$
 $= at^2 + aa(k+1) = at^2 + aat^2 + aa$.





AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$\begin{split} & \overline{y} = y + \frac{(1+y_1^2)}{y_2} = 2\alpha t + (-3\alpha t^3) \left(\frac{1+y_1^2}{t^2} \right) \\ &= 2\alpha t - 2\alpha t^3 \left(\frac{t^2+1}{t^2} \right) = 2\alpha t - 2\alpha t^5 \left(\frac{t^2+1}{t^2} \right) \\ &= 2\alpha t - 2\alpha t^3 \left(\frac{t^2+1}{t^2} \right) \\ &= 2\alpha t - 2\alpha t^3 - 2\alpha t \\ \hline y = 2\alpha t^3 - 2\alpha t^3 - 2\alpha t \\ \hline \overline{y} = -2\alpha t^3 \longrightarrow (D) \\ \hline y = 2\alpha t^3 \longrightarrow (D) \\ \hline y = 2\alpha$$





AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

2. find the equation of the evolue of the
ellipse
$$x_{a2}^2 + y_{b2}^2 = 1$$
.
solve $x_{a2}^2 + y_{b2}^2 = 1$.
solve $x_{a2} + y_{b2}^2 = 1$.
solve $x_{a2} + y_{b2}^2 = 1$.
 $y_{a1} = a \cos\theta$; $y_{a2} = b \sin\theta$.
 $\frac{dx}{d\theta} = -a \sin\theta$; $\frac{dy}{d\theta} = b \cos\theta$.
 $y_{1} = -\frac{b}{a} \cot\theta$.; $y_{2} = \frac{d^2y}{dx^2} = \frac{d}{d\theta} \left(\frac{dy}{dx}\right) \frac{d\theta}{dx}$
 $= \frac{a}{a} \left(\frac{-b}{dx} \cot\theta\right) \frac{d\theta}{dx}$
 $= \frac{a}{a} \left(\frac{-b}{dx} \cot\theta\right) \frac{d\theta}{dx}$
 $= \frac{a}{a} \left(\frac{-b}{dx} \cot\theta\right) \frac{d\theta}{dx}$
 $y_{2} = -\frac{b}{a} \left(\frac{-a}{a} \sin\theta\right) \frac{d\theta}{dx}$
 $y_{2} = -\frac{b}{a} \left(\frac{-a}{a} \sin\theta\right) \frac{d\theta}{dx}$
 $y_{3} = -\frac{b}{a} \left(\frac{-a}{a} \sin\theta\right) \frac{d\theta}{dx}$
 $= a \cos\theta - \left[\frac{-b}{a} \cot\theta\right] \left[-\frac{a^{2}}{b} \sin^{2}\theta\right] \left[1 + \frac{b}{a^{2}} \cot^{2}\theta\right]$
 $= a \cos\theta - a \cos\theta \sin^{2}\theta \left(1 + \frac{b^{2}}{a^{2}} \frac{\cos^{2}\theta}{\sin^{2}\theta}\right)$
 $= a \cos\theta - a \cos\theta \sin^{2}\theta \left(\frac{a^{2} \sin^{2}\theta + b^{2} \cos^{2}\theta}{a^{2} \sin^{2}\theta}\right)$
 $= a \cos\theta - a \cos\theta \sin^{2}\theta \left(\frac{a^{2} \sin^{2}\theta + b^{2} \cos^{2}\theta}{a^{2} \sin^{2}\theta}\right)$
 $= a \cos\theta - a \cos\theta \sin^{2}\theta \left(\frac{a^{2} \sin^{2}\theta + b^{2} \cos^{2}\theta}{a^{2} \sin^{2}\theta}\right)$





AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$= a \cos\theta - a \sin^{2}\theta \cos\theta - b^{2} \cos^{3}\theta.$$

$$= a \cos\theta - a(1 - \cos^{2}\theta) \cos\theta - b^{2} \cos^{3}\theta.$$

$$= a \cos\theta - a \cos\theta + a \cos^{3}\theta - b^{2} \cos^{3}\theta.$$

$$= a \cos\theta - a \cos\theta + a \cos^{3}\theta - b^{2} \cos^{3}\theta.$$

$$\overline{X} = \left(\frac{a^{2} - b^{2}}{a}\right) \cos^{3}\theta. \rightarrow 0$$

$$\overline{Y} = y + \left(\frac{1 + y^{2}}{y_{\perp}}\right) = b \sin\theta - a^{2} \sin^{3}\theta \left(1 + b^{2} \cot^{2}\theta\right)$$

$$= b \sin\theta - a^{2} \sin^{3}\theta \left(a^{2} \sin^{2}\theta + b^{2} \cos^{2}\theta.\right)$$

$$= b \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \left(1 - \cos^{2}\theta\right) - a^{2} \sin^{3}\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \left(1 - \cos^{2}\theta\right) - a^{2} \sin^{3}\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{2}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \cos^{2}\theta \sin\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \sin^{2}\theta$$

$$= b \sin\theta \sin\theta - a^{2} \sin^{3}\theta - b \sin^{2}\theta$$

() =)
$$a \times = (a^2 - b)\cos^3 0$$

 $(a \times)^{3/3} = (a^2 - b^2)^{2/3}\cos^2 0 \longrightarrow (3)$.
() =) $b \times = (b^2 - a^2)\sin^3 0$
 $(b \times)^{2/3} = (b^2 - a^2)^{2/3}\sin^2 0 \longrightarrow (4)$





AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

6 change x dry beers & to X and becomes (ax) 3+ 12-2° (bi gives the evolute the e a